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E15.9 Timeallowed — 45 minutes
(i) Describethe operating cycle with the aid of a simple diagram.

(if) Usethe profit and loss accounts for the year ended 30 September 2001 and the balance
sheetsas at 30 September 2001 for Small plc and Big plc from Exercise E5.6 to calculate the

operating cyclesin days and per centage, assuming the following changesto working capital:

Small plc Big plc
Debtors - 10% +10%
Creditors -15% +15%
Stocks - 20% +20%

(iii) Prepareabrief report that comparesthe working capital performance of the two

companies, following the changesin (ii) above, and suggest some reasonsfor any differences.
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E15.10 Time allowed — 45 minutes
The following information relatesto a mgjor UK plc:

¢ The company sellson credit terms of 30 days from invoice date.

¢ There are dways problems with dow moving stocks.

¢ Some customers are having difficultiesin settling their accounts.

¢ The sector in which the plc operates is highly competitive.

¢ The sector is affected by external financia factors, e.g. exchange rate and interest rate movements.
¢ The company’sfactories are primarily based in the South of England.

¢ The company operates from out of town sites, but only close to major cities.

(i) What arethe possibleimplicationsfor a shareholder, alender, a customer, and an employee,
with regard to thisinformation?

(ii) What questions may beraised by the users of financial informtion regarding the above
statements?

(iii) Which statement is most relevant to which user of financial infor mation?



